
Think N Write- Why does Orwell 
think there will be a ‘peace 
that is no peace’ 
 a state which was at once unconquerable and 

in a permanent state of 'cold war' with its 
neighbors….If, as seems to be the case, it [the 
atomic bomb] is a rare and costly object …it is 
likelier to put an end to large-scale wars at the 
cost of prolonging indefinitely a 'peace that is 
no peace'.               George Orwell 

 



AIM #9 WHY DID THE COLD WAR 
DEVELOP AND HOW WAS IT 
FOUGHT? 

Chapter 29 sect 1-2 



I. What is a Cold War? 
Definition-    



II. The World Takes sides. 
A. Communists 

 
1. Warsaw Pact-   

 

 

1.   

 

 

2. China 

3. North Korea 

4. North Vietnam 

5. Cuba 

 

http://upload.wikimedia.org/wikipedia/commons/7/7b/EasternBloc_BorderChange38-48.svg


II. The World Takes sides. 

B. Democracies 

1.   

2.   

3.   

4.   
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III. What caused the Cold War 
to Develop? 

A. Cold War-  

1.   

2.   

3.   

4.   

5.   

i.   

 



IV. Methods of conflict 
     A. Proxy War  

   

 

1.   

 

 



  2. Vietnam- 

i.   

 

 

 

ii.   

 

iii.   

 

 

 

iv.   



   2. Vietnam- cont. 
v.   
 
 
 
vi.   
vii.   
 
 
 
viii.   
 
 3. Cambodia   
 
 
 



 



 Other conflicts: 

   

   

   

   

   



IV. Methods of conflict 

B. Arms Race-   
 
 
 
1.   
2.   
3.   
4.   
5.   

 
6.   
7.   



 



 



C. Social War 

1.   

2.   

 

 

 

 

 

 

 

 

3.   

4.   

 



V. How does the Cold War come to an end? 

A. Social Changes 

1.   

 

2.   

 

   



V. How does the Cold War come to an end? 

B.  Economic – 

1.   

2.   

3.   

i.   

 

4.   

 

i.   

ii.   

 



V. How does the Cold War come to an end? 
C. Military 
1.   

 
i.   
ii.   

2.   
3.    
4.   

 
 

i.   
 

ii.   



 



5.   

 

6.   


